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Math 152, Exam #3, Fall 2011

Instructions: Show all work. Complete all parts of each problem. Some problems will ask you to
complete the entire problem (give exact answers and not decimals), and some will just ask you to set
them up.

1. Use the attached table of integrals to integrate. State the number of the integral you use, and
any constants or substitutions you need to identify for the problem. Be sure to give the answer,
No need to simplify. Only two are required, but you can do all three.
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Integrals with Trigonometric Functions
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ame. KEY

Math 152, Exam #3, Fall 2011

Instructions: Show all work. Complete all parts of each problem. Some problems will ask you to
complete the entire problem (give exact answers and not decimals), and some will just ask you to set
them up. ‘

1. Question #1 is on a separate page. (10 points)

2. For each of the following integrals, determine if the problem can be done by parts. If not, state
the rule or technique you would use (including if you have to use algebra first; for substitution,
state u). If it can be, give u and dv. Do not complete any integ_rat'fn. (5 points each)

a. Example: J.]n xdx Can it be done by parts? NO

If NO, what method would you use?
‘ tFYES® (= Inx dv=  dx

b. Example: jx\/I —x*dx Can it be done by parts? YES

If NO, what method would you use?  Substitution u=1-x?
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If NO, what method would you use? [M A ston

If YES: u= dv=



4. Set up the trigonometric integral with the appropriate substitutions. Make any trig identity
replacements needed. Do not complete the integration. (7 points each)

a. Example: Icscé O cot* 046
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7. A model for the ability M of a child to memorize, measured on a scale from 0 to 10, is given by
M=1+1.6:Int,0<7t<4 where tis the child’s age in years. Find the average value of this

model a) between the child’s first and second birthdays, b) between the child’s third and fourth
birthdays. (10 points)
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8. Set up, but do not iqntegrate‘. (10 points)
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10. Find the limit. (8 points each)
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